'CE 321 - Quiz #2. Name

Active Filters. April 12, 2018

1) X and Y are related by the following transfer function
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Y= ((s+2)(s+4)(s+10>) X= (s3+16s2+68s+80) X

la) What is the differential equation relating X and Y?
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Ib) Find y(t) assuming
x(f) =5+ 6 cos(7t)
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2) X and Y are related by the following transfer function:
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Specify R and C values so that the following circuit implements this transfer function

Y= ((s+2)(s+4)(s+10)) X= (s3+16s2+68s+80
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3) X and Y are related by the following transfer function:

_ 2000
Y= ((s+8.5)(s+12.1469.50) (s+12.14—69.5°) J X

Find y(t) assuming
x(t) =5+ 6c¢cos(77)
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4) X and 'Y are related by the following transfer funciton:

o= | 1
Y= 2000 X §>£ 5&“*’? = [ 67
(s+8.5)(s+12.1469.5°) (s+12.14—69‘5 0)
Specify R and C's so that the following filter implements this transfer function
Ct c2 R3 R4
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5) X and Y are related by the following transfer funciton:
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Specify R and C's so that the following filter implements this transfer function

R1 R2 R3 C
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Bernie Sanders vs. Godzilla Bonus! Which is more:

« The ng}mberu/ofrtrime,&ﬂgm;p Sanders has run for public office, or
+ The nitmber of Godzilla moyies made?
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